Задачник: Арифм. прогрессия: найти член по ak и d

Примеры заданий
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	[image: image1.png]llana apudpMeTuuecKan Nporpeccua {d&a}.
BrmucnnTe a7, ecmu as = -24, d = -1
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	[image: image2.png]llana apudpMerTuuecKans Nporpeccua {d&a}.
BEMMCIMTE a4, ©CHM a14 = -14, d = -1
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	[image: image3.png]llana apudpMeTuuecKan Nporpeccua {d&a}.
BEMMCNMTE 419, ecam a7 = 11, d = 1
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	[image: image4.png]llana apudpMerTuuecKan Nporpeccua {d&a}.
BEMMCIMTE a4, eCTM ag = 9, d = -2
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	[image: image5.png]llana apudpMeTuuecKan Nporpeccua {d&a}.
BEMMCIMTE ay4, echu ajy = 45, d = 5
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	[image: image6.png]llana apudpMeTuuecKans Nporpeccua {d&a}.
BEMMCNMTE 41, echau as = -36, d = -4
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	[image: image7.png]llana apudpMerTuuecKan Nporpeccua {d&a}.
BeuMcnMTe 4y, ecau as = 7, d = 4
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	[image: image8.png]llana apudpMeTuuecKan Nporpeccua {d&a}.
BEMMCNMTE ay5, echau aiz = -9, d = -1
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	[image: image9.png]llana apudpMerTuuecKans Nporpeccua {d&a}.
BEMMCNMTE 43, €CHM aje = -57, d = -4
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